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a. A frequency-domain circuit is shown above. Write the value of phasor I; in
polar form.

b.  Given @ = 53.13 rad/s, write a numerical time-domain expression for ij(t), the
inverse phasor of 1j.
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A frequency-domain circuit 'is shown above. Write the value of phasor I in
polar form. :

Given ® = = rad/s, write a numerical time-domain expression for i1(t), the
inverse phasor of 1.
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20¢ts a. A frequency-domain circuit is shown above. Write the value of I in polar

form.

Spts b, Giveno= 100 k rad/s, write a numerical time-domain expression for 11(t), the
inverse phasor of Ij.
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15 a. Choose the value of Z; that will absorb maximum average power.

15 b. Calculate the value of that maximum average power absorbed by Z; .
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20 a. A frequency-domain circuit is shown above. Write the value of phasor I in
polar form.

5 b.  Given 0 = & rad/s, write a numerical time-domain expression for i1(t), the
inverse phasor of Ij.
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